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Mr. L. U. Luck lias been re-enig.tgod as head mîaster of the SOLUTIONS.
Public Schools in Becton. Wlhen fMr. L. %ont to Beetoi two years 1 Extracting tle square route and thon the cube rot we get 37.
ago not a pupil had crer pas2ed the outrance examination there.
The first year Mr. Luck passed six pupils for otrance and the next 2. Tie formula is truc only wheu n. is integral. Vlen n is a
two for entrance and four for internediate, une uf the inîtermiediate wiole nuber 12n + 5 il an oj1d iuither, for it is the sui uf 12,
pupils boineg only twelve years of age. an ev'n numbor, aîd 5, fil <usnber. Now, overy add square

Mr. Jaies Paris, Public Scheel teacher in Alnonto, is about te îuînbor-i-12 lenes reinainder oither 1 or ). But (12 5-1-
retire fron the profession. baves for roniider 5, .. 121t-i-5 is nt a square iiiiîbr..Noru.-E very miel numuhoir > 12 is mie of tlîc foais 12p+ 11,

Mr. W. A. Smith, late head master of the R. C. Separate Schools 12p+9, 1 2o+7, 12p+5, 121+3, or l2pt-i. Henco overy odd
in Almonte, lias been appointed te a similar position in the Ren. s
frew Separate Scliools. Before leaving Almonte Mr. Smnith was
tendered a compliientary slipper by his manîy friends. + 9+91

Mr. Geo. Lister, foi troe ycars teacher in Alonte, lias been W72
engaged te teacli at McDoiald's Corners, rice Mr. A. Wilson vo- Honce every square edd numbcv -+ 12 is cf eue of tre- fora
aigned. 12x+121, 12.c+81, 12x+49, 12x+25, 12x+9, or 12x41. If we

We are pleased to learn that Mr. Wilson Taylor took the Prince di-,ide tlese agaiu by 12 wu have 12y+1, 12y+9 as tlî final fovais,
of Wales gold medal at the recent Normal Sehool exanination leld su tlat the rcînaiiders nust bu citier 1 or 9, aîd îever can bu 5.
at Toronto. Ho studied for a first A certificate unider Mr. Mer- 2. (a) Let x-1, x, x+1 bc the numbers,
chant, and last July took the highest aggregate ever obtained in Product=x(.c - 1), which is nianifestly îlt the square.
Ontario by any first.class candidate, taking 2,104 marks out of a
total 2,300. Ve congratulate our young friend on his remarkablo 3- 13 14
success in education, and cati safely say tlat lie has a great future I
before liimi.-Ingersoll Sun. 3 3 +0 +0 1

Sonie change will bu made in the arrangement of the work in 3
the Whitby Collegiate lInstituite. 3Mr. Embree, the Principal, will + 1 3 +3 + 1
tako Englhsh Language and Literature, French and German ; Mr.
T. G. Campbell, nathemtatics and part of the science ; Mr. Fother-
inglian, classics ; Mr. Henderson, history and geography, drawi,33 2.33
commercial subjects, including plhonography ; Mr. N. W. Camp- +3 +1
bell, English and science. 13

Thte trustees of Greensville Public School, (No. 5, WVest Flain- 3
boro',) have crected durinsg the last sunmer a iagnificent new +1.
brick school iouse, of whiclh the wlole section are justly proud. (a+b)(a+b) 2a'(b+c)
It lias been built on the iosL approved model, at a cost of E3,000. 4. (a) a.

during ~ ~ ~ ~ « -î as(-b) (a - c) ab)Mr. J. B. Morrow, whito se ably nanaged the school during the c tst xpressuoi

Q500. Miss Katie Sleeh.m lias been re-eiîaged as assistant. __ 2
Mr. J. B. Turner, fornerly of Hamilton, but recontly of St. Now son cf the fractions (

Catharines Collegiate institute, lias beezi appointed te succeed W.
H. Ballard, M.A., as Mathematical Master of the Hamilton Col- [«î(a2 c+b 1 (c'-a 2 >+a2(a2 -b'+b)(c)(c-a)
legiate Institatte.her B utc(1± +)1

leavs fr rmaider , : 12+5 s no a quae nmbe .'-

0,a4thcmnatical 9tpartmnt.

UNIVERSITY OF TORONTO, ANNUAL EXAMINA-
TIONS, 1884.

JNIOL MATnICULATION.

MATHEMATICS.

E.camincr: W. J. LounoN, B.A.

1. Find the sixth root of 2565726409.
2. (a) A square nunber canunot bc of the form 12#+5.

(b) The product of three consecutive iunmbers cannot bo a
perfect square.

14 13
3 3

3. Divide 3-1 by 3-1.
. a+1) (a +c)

4. Smplify a' +...... ...... ,(a- 1) (a - c)

and reduce te lowest terns 212-377cN+

5. Solve the equations:
97G;0G32 - 19524150>497G0G3 =0.
16x(x+1)(.+2)(x+3)=9

6. Any two sides of a triangle are together greater tian tho
third side.

7. Entunciato and prove Prop. 13, Book I.
8. To find the centre of a given circle.

=[(b+c)(a2 +ab +b')(2- (b '+bc+cl)(a+b)c]--(c-a)
=-(b'+ bc + c2 2 )-(a +b2 +c)(ab +bc +Ca> - abc(a+b+c)

Hence the whole expression
=a'+b4+c'+2(a'b'+&c. )+l2(a2+&c.)(ab+&c.) +2ab' (a+b+c
=(2a+b+c)(a i-b+c)2+2abc(a+b+c).

NOT.-For a shorter and more scientific solution sec Dr.
McLellan's IlRandbook, p. 56, and Conpanionê, p. 44. The geieral
form of all such sums is given oni p. 47 of the latter, hience we have
givel an independent solution istead of reproducing these te
which our readers cani easily refer.

4. (b) The H. C. F. of the ternis of the fraction =i-3x+1.
Thie fraction thien easily reduces to

8e+24x'+64:r+1682+63.r+21
21&+63x<+168e+642c+24x+8

NoTFn.-The process of finding the H. C. F. is given fur the
benefit of those who may find any diflicuilty in it.

A =8ce-377z-+21
B =21x7-377x'+S

(21.j1-81i)÷377 =8'-21x3+1 =C
(--1D-8.4)÷!-377 =zl-21r+8 =D

(SD-C)÷21 ='9-8x+3 =E
(8C-)÷?2. =3 2 8+ =P>

(3IÏì-F)÷8 I=2>-3x+1 =G

Hence this is the H. C. F. For a fuil exposition of this elegant
imetho)d sec Teadcrs' laidbopok of Aiychra, pp. 104, 105.

5. (a) Fron the foriu lta r={ - b± 11(b" - 4etc.) -i-2a we ge.
x= 11932450±- 1(19524501-4 x976063>)j -2×X976063
=1 " ± (1952450+195212G)( t - t )}-+
=1 's ±1(4:X49tX2'X!')I-- '
=1976225±4X494X91÷976063

958441 994009
: 76963 976063


